EDUC230 TEST 2 DIAGNOSTIC TESTING AND DIFFERENTIATED
INSTRUCTION 25 marks - 25%

d

WARNING! Marks will be deducted for inappropriate use of the word ‘grade’.

Choose ONE of these systematic errors:
e Primary maths: Presenting ratios that include zeroes e.g. I have 3 pens and you have
no pen so the ratio of pens between you and me is 3:0.
e Primary TESOL: use of the apostrophe for simple plurals e.g. ‘Three girl’s were

waiting outside.’

DIAGNGOSTIC TESTING

(1) Write a multiple choice item for the error you have chosen. At least one of the answer
options must target the systematic error. Indicate the correct answer with an arrow and
the option(s) targeting the error with an asterisk. Note that distractors that do not
target the error must make sen an@ stand out.
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\@Q{F-c“’orrect-the-F item for the maths topic or a Correct-Incorrect-Correct-the-

or the language topic for this error. (Make sure the answer is F/Inc!)
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(3)a) Write an open-ended question for this error. It must contain at-te ast 2 answer elements.
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¢) Answer the question you wrote in (a) as you would expect a student who exhibits the

systematic error do so.
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rsfer a diagnostic test and ascertain that about half the kids in the class are

ing the systematic error. What steps would you take to rectify the situation?
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DIFFERENTIATED INSTRUCTION

Primary Maths (c. Grade 4): Introduction to percentages. The kids can handle fractions and
you should approach a percentage as a fraction over 100.
Primary TESOL (c. Grade 6): Essay composition. You need to cover the basic structure of an

essay and get them writing short but properly structured essays.

P
You have a mixed-ability class of 27. Of these, 19 are ‘average’, four are very quick and :2\/
smart, and four are slow learners. You have five 40-minute periods to cover this material. :
a
<
(1) What would you consider to be the basic knowledge and skills that all learners should &7
acquire from this series of lessons'7 (List four things) ?
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(2) Give two examples of questions/problems that you would expect any

g

able to handle at the end of the series. They should be distinctly different
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(3)a) What knowledge/skllls would you expect only the four better pupils to acquire?
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b) How would you go about teaching those? In SI ht E
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¢) Give two examples of questions or problems that you would expect only these pupils to

be able to answer. They need to be distinctly different.
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